# NIT No.SPPRA Serial No.35481

Method and procedure of procurement: <u>Open Competitive Bidding (National/ International</u>

Competitive Bidding) (Single Stage-One Envelope)

Description of work:

PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP

CENTRIFUGAL PUMP ALONG WITH NECESSARY

ACCESSORIES AT NEK (P&F) OLD, KW&SB.

Date of Opening:

22-12-2017

### **BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT**

Eligibility/ Qualification Criteria:

C N	FIGURE / On the control of the control	Bidder	s' Name
S. No.	Eligibility / Qualification Criteria	M/s.Saim & Co.	M/s.Riaz & Co
1.	Registration with PEC (if applicable)	N/A	N/A
2.	NTN	Yes	Yes
3.	Sales Tax Registration (FBR)	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
	Qualification Criteria:		
5.	Minimum three years experience of relevant field.	Yes	Yes
6.	Turnover of at least last three years	Yes	Yes
7.	Required Bid Security is attached.	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A
10.	Qualified/ disqualified	Qualified	Qualified

(Havis Farooqui)
D.A.O (P&F) NEK Old
Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Jameel Ahmed Ansari) S.E (P&F)-II

Member

(Saifuddin)

Director (Design & Estimate)

# NIT Sr. No. SPPRA Serial No.35481

# Method of Procurement: Single Stage Single Envelope.

Name of Work: PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP

CENTRIFUGAL PUMP ALONG WITH NECESSARY ACCESSORIES AT NEK

(P&F) OLD, KW&SB.

# MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 22-12-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
  - i. M/s. Saim & Co.
  - ii. M/s. Riaz & Co.
- 3. The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.Saim & Co.	Rs.9,99,113/-	Rs.20,000/-	P.O # 04263043 dt:18-12-2017 from Bank Al Habib Ltd Shamsi Society Branch Karachi
2.	M/s.Riaz & Co.	Rs.10,33,615/-	Rs.21,000/-	P.O # 03770471 dt:18-12-2017 from Meezan Bank Shamsi Society Branch Karachi

- 4. The bids do not contain any cutting or overwriting.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).
- 6. The meeting ended with the vote of thanks to and from the chair.

(Haris Farooqui)

D.A.O (P&F) NEK Old

Member / Secretary

(Saif-ul-Haque)

Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Jameel Ahmed Ansari)

S.E (P&F)-ÍI Member (Saifuddin)

Director (Design & Estimate)



# KARACHI WATER & SEWERAGE BOARD OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

# BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.35481 I.D No
3	Tender Description/Name of Work/Item:	PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP CENTRIFUGAL PUMP ALONG WITH NECESSARY ACCESSORIES AT NEK (P&F) OLD, KW&SB.
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	<u>02 Nos</u>
7	Total Bid Received:	<u>02 Nos</u>
8	Technical Bid Opening Date (if applicable):	N/A
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	22-12-2017

#### 12 **BID EVALUATION REPORT**

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.Saim & Co.	Rs.9,99,113/-  ,	1 <sup>st</sup> Lowest	@2.435% Above	Pay Order and other documents are available. P.O # 04263043 dt:18-12- 2017 Rs.20,000/- from Bank Al Habib Ltd Shamsi Society Branch Karachi	Substantially Responsive
2.	M/s.Riaz & Co.	Rs.10,33,615/-	. 2 <sup>nd</sup> Lowest	@5.973% Above	Pay Order and other documents are available. P.O # 03770471 dt:18-12- 2017 Rs.21,000/-from Meezan Bank Shamsi Society Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The R.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.Saim & Co. declared the lowest responsive hidders by the Committee and recommended for sanction from Competent Authority.

(Haris Farooqui)

D.A.O (P&F) NEK Old Member / Secretary

(Saif-ul-Haque)

Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh)

Superintending Engineer (KMC)

Member

(Jameel Ahmed Ansari)

S.E (P&F)-II Member

Director (Design & Estimate)

# **COMPARATIVE STATEMENT**

# Name of Work: PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP CENTRIFUGAL PUMP ALONG WITH NECESSARY ACCESSORIES AT NEK (P&F) OLD, KW&SB.

Item No	Description of Work	Estimated Cost				M/s.Saim & Co.		M/s.Riaz & Co.		
110			tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Providing Pedrollo Sewage / Sludge Submersible Pump (Made in Italy) Set 4-Hp, 2950RPM, 380 Volts, delivery size 3" dia Head 1100' Complete in all respect and as per direction of E/incharge.	2.00	Nos	216742	Each	433,484.00	222160	444,320.00	229750	459,500.00
2	Providing & Laying (Main or Sub main) PVC Insulated & PVC Sheeted with Three Core Copper conductor 300 / 500Volts size 16mm2 for Submersible Pump.	245.00	Mtrs	1094.00	P/Mtr	268,030.00	1120.00	274,400.00	1160.00	284,200.00
3	P/F of Circuit Breaker 15, 20, 30, 40, 50, 60, 75 & 100Amps. TP (XS-100NS) on prepared board as required.	2.00	Nos	9261.00	Each	18,522.00	9492.00	18,984.00	9800.00	19,600.00
4	Providing & Fixing Magnetic Contact FC-20N as required & as per instruction of E/I	2.00	Nos	3581.00	Each	7,162.00	3670.00	7,340.00	3800.00	7,600.00
5	Providing & Fixing Overload Relays for sizes 6, 7, 8, 8A & 11 Model FT-190 as required & as per instruction of E/I	2.00	Nos	3776.00	Each	7,552.00	3870.00	7,740.00	4000.00	8,000.00
6	Providing & Fixing DP i/c Change over Switch 500Volts, 15Amps. On a prepared board as per instruction of Engineer incharge.	2.00	Nos	2411.50	Each	4,823.00	2471.00	4,942.00	2550.00	5,100.00
7	Providing & Fixing Ammeter Size 96/96mm 15A, 30A, 50A, 60A & 100A as required & as instruction of Engineer incharge.	2.00	Nos	1054.00	Each	2,108.00	1080.00	2,160.00	1100.00	2,200.00
8	Providing & Fixing Voltmeter Size 96/96mm 500Volts as required & as instruction of E/ incharge.	2.00	Nos	999.00	Each	1,998.00	1023.00	2,046.00	1060.00	2,120.00
9	Providing & Laying UPVC Pressure pipes of Class 'B' (equivalent make) Fixing in trenches i/c cutting, fitting and jointing with 'Z' Joint with One Rubber Ring i/c testing with water to head 61 Meter & 200 ft. 80mm (3"dia) for Submersible Pump.	450.00	Rft	90.00	P/Rft	40,500.00	92.00	41,400.00	95.00	42,750.00

An h

7

B.

Man

my

# Name of Work: PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP CENTRIFUGAL PUMP ALONG WITH NECESSARY ACCESSORIES AT NEK (P&F) OLD, KW&SB.

Item No	Description of Work		Estimated Cost				M/s.Saim & Co.		M/s.Riaz & Co.	
			tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
10	Mono Block Pump Providing Pedrollo Centrifugal Mono Block Pump (Made in Italy) discharge 4" x 4" Set 5.5Hp, 380Volts Discharge 1200 Meters as per direction of E/incharge.	1.00	No	83362.00	Each	83,362.00	85446.00	85,446.00	88360.00	88,360.00
11	Providing & Laying (Main or Sub main) PVC Insulated & PVC Sheeted with Three Core Copper conductor 300 / 500Volts size 16mm2 for Mono Block Pump.	40.00	Mtrs	1094.00	P/Mtr	43,760.00	1121.00	44,840.00	1160.00	46,400.00
12	P/F of Circuit Breaker 15, 20, 30, 40, 50, 60, 75 & 100Amps. TP (XS-100NS) on prepared board as required.	1.00	No	9261.00	Each	9,261.00	9492.00	9,492.00	9800.00	9,800.00
	Providing & Fixing Ammeter Size 96/96mm 15A, 30A, 50A, 60A & 100A as required & as instruction of Engineer incharge.	1.00	No	1054.00	Each	1,054.00	1080.00	1,080.00	1100.00	1,100.00
14	Providing & Fixing Volt Meter Size 96/96mm 500Volts as required & as instruction of Engineer incharge.	1.00	No	999.00	Each	999.00	1023.00	1,023.00	1060.00	1,060.00
15	Providing & Laying UPVC Pressure pipes of Class 'B' (equivalent make) Fixing in trenches i/c cutting, fitting and jointing with 'Z' Joint with One Rubber Ring i/c testing with water to head 61 Meter & 200 ft. 80mm (3"dia) for Mono Block Pump.	385.00	Rft	137.00	P/Rft	52,745.00	140.00	53,900.00	145.00	55,825.00
	TOTAL BID COST			15,100		975,360	. 10.00	999,113		1,033,615

(Haris Farooqui)

D.A.O (P&F) NEK Old Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Jamil Ahmed Ansari) S.E (P&F)-JJ Member

(Saifuddin)

Director (Design & Estimate)

# **ATTENDANCE SHEET**

### NAME OF WORK:-

# NAME OF WORK

PROVIDING & FIXING 4-HP SUBMERSIBLE PUMP AND 5.5 HP CENTRIFUGAL PUMP ALONG WITH NECESSARY ACCESSORIES AT NEK (P&F) OLD, KW&SB

Venue:

The Director (Design & Estimate), KW&SB, Gulshan-e-Iqbal Block-18,

Karachi.

Date:

22-12-2017 at 2:30 PM

#### CONTRACTORS / FIRMS / BIDDERS

S.No	Name of Firms / Bidders	Contact No.	Signature
0	MS Sain & Co.	0345-1368946	Cx.
2	M/S Saim & Co. m/s. RIAZ & Co.	0300-2403787	Nix.
SIL			1
4			/
		×	
ļ.			
		6	
		W I	